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M NS (eS8 /LSS - MEXA)
= MEN =y ==t PNE (CHo: X 2l)
2A - B ERI(E) - HIRAY - BER O Ao J| & o HmE2
NSt 1,073,661 1,035,850 37,811
= 115,651 115,651 0
(o= 6,867 5,577 1,290
Al 951,143 914,622 36,521
A=A S (LS SHEY/XLHEY - THEXIH) 870,229 865,504 4,725
= 115,651 115,651 0
== 6,867 5,577 1,290
Al 747,711 744,276 3,435
KA SoE = 361,039 366,810 A5, 771
SH oA 302,415 304, 101 1,686
201 LE23H| 176,843 178,529 1,686
01 At22teld| 15,183 16,869 1,686
OSZMYENXAN FeI(0aEZ) 5,400 6,000 2600
—ANE HEIXM(FHSH £ SEHAA)
AX 2,160,000 2,160 2,400 A240
—A2 HRIXNM(FHSH L SEHEAM)
&3 2,160,000 2,160 2,400 A240
—&IE2 SEYSM XA
Z2& 1,080,000 1,080 1,200 A120
OFIIZ2 SEHAAN 2 EBs-2(0AEY)
Z2& 810,000 810 900 A90
OXIZA } P (olarE2)
Z2& 1,395,000 1,395 1,550 A155
OXLNER ARE M (M=)
AA 1,152,000 1,152 1,280 A128
OULXIA QIME DNEZ2IED| 88 P (0AEY)
6,426 7,139 AT13
—El A 1,367,000 1,367 1,518 A 151
= ZA 1,188,000 1,188 1,320 A132
—NZ30IEIIE 23X 594,000 594 660 AB6
—3elHEE AN 258,000 258 286 A28
—d3E A 1,287,000 1,287 1,430 A143
—0|EQAHICIXIRN
28 742,000 742 825 A\83
—IIRHEYHRK A 990,0002 990 1,100 A110
ALKl 20& = 58,624 62,709 A4,085
201 LE23H| 36,765 40,850 4,085
01 At22teld| 36,765 40,850 4,085
OAIMl 20X A SOI(0fl A=) 15,120 16,800 A1,680
—XSO0IMl DXIA AN 3,240,000 3,240 3,600 A360
—HJ|2 SHDRXAGIH HSD)
438 9,720,000 9,720 10,800 A1,080
—ZI|2 AN 2 &z
2338 2,160,000 2,160 2,400 A240
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AEMNASE (L SHE/NLHY - HEXIR)
ol XM sard- (Crel: me)
SH - BB CR(E) - HIRAY - BES Ofl ko Jl 3 o Hns2
OAMI(HIIZ) R 288+ S HME(0AEY)
AA 8,115,000 8,115 9,180 21,065
OMIXLASEA RIXHMAID A OHE
ADME A 2 2H(0AE2)
23 5,400,000 5,400 6,000 A600
OXLASH AN AME OHAZ HME (ROl
B, 2C) (HAEY)
ZA 2,700,000 2,700 3,000 A300
OMUXLASEA RIRHMAID A OHE
ANEHEAN AEHE L STELS(0AEY)
43 3,960,000& 3,960 4,400 A440
Mg 72,081 64,161 7,920
& 5,577 5,577 0
Al 66,504 58,584 7,920
Mg A 66,504 58,584 7,920
201 et 3| 50,004 48,084 1,920
01 AtR2elt] 7,020 7,100 280
Odsiaz g &ofIds EasY
70,0002*3%H*33| 630 0 630
QU2 S20HH DXIA(MAHEZ)
2 270,000 270 300 A30
OXIZAl MYDXIA Fel(olaE2)
338 3,240,000 3,240 3,600 A360
OXSA Ham P 2ed MASKI(0AE2)
Z2& 450,000 450 500 250
OHMEAN LREe HREE S0 (0larE2)
AA 1,620,000 1,620 1,800 A180
ONE e HSE FXN010 S (0aE2)
22X 810,0002 810 900 A90
02 2224l 42,984 40,984 2,000
OB E IXIAIAE 2d01E
2,000,000& 14! 2,000 2,000
405 KHaEE S| 6,000 6,000
01 AR ESEFHSHI 6,000 0 6,000
OHsE IXAIAE 20 HE SUHEIID| 2
6,000,000 *1A! 6,000 0 6,000
Nel+=g SE = 162,816 160,980 1,836
Nel=g SnE 162,816 160,980 1,836
201 et 3| 17,372 19,580 22,208
01 AtR2elt] 14,872 12,080 2,792
OLEAE JI12H E2S(HES!, XAH) HME
Z2& 7,000,000 7,000 3,000 4,000
OANI2l=e E2DXIA(0AEZ)
A 2,302,000 2,392 3,600 21,208
02 Z323H| 2,500 7,500 25,000
OLNEAE JI2H EelE tHSHI(ZFAIZAEH)
AA 2.500,000 2,500 7,500 A5,000
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RETHRISE (LS DT/ X Y3
NI2I2e) S IhE4

SA - B G(3) - HRAY - BES Ofl Aot )l 3o {ImE=ST
301 EtEEZ 95,000 90,000 5,000
14 JIEtE&Z 95,000 90,000 5,000
OLEAE JI2H S tisul(LereedS)
5,000&*1,000H 5,000 0 5,000
405 KHAHE S| 6,844 7,800 A956
01 AL =SS FHSHI 6,844 7,800 A956
O=2EX QBAD| F(0arE2)
Z2& 6,844,000 6,844 7,800 A956
Mol MgH 21,420 21,900 480
N2l HgH & 21,420 21,900 480
201 LB AY| 16,920 17,400 A480
01 At=2teld| 4,320 4,800 A480
OAMI2l= Motz & HSE HX 12
(Ollar=2) 23 1,080,0002 1,080 1,200 Al120
OMI2I+=e M UH Hel E2 S (oaE2)
23 1,620,000 1,620 1,800 A180
OM2l= MYt HSE HX| ol S
(Ol AR 33 1,620,000 1,620 1,800 A180
N3 1,920 700 1,220
== 1,290 0 1,290
Al 630 700 AT0
S§Z24 MI=AL 630 700 AT70
201 LB AY| 630 700 AT70
01 At22teld| 630 700 AT70
OXIZA MHZAIM FOI(0AE2E)
23 630,000 630 700 AT0
(DIaENAL=ER2Y 1,290 0 1,290
(o= 1,290 0 1,290
202 44| 1,290 0 1,290
(o= 1,290 0 1,290
01 =LHOIHI 1,290 0 1,290
ONL=2Z 0| 1,290,000 x 14! 1,290 0 1,290
== 1,290 0 1,290
SHAE2HAYI (M) (DIEL/DIEL 153,432 170,346 A16,914
JlE23l 153,432 170,346 16,914
JlE23l 153,432 170,346 16,914
201 LB AY| 37,374 41,526 A4, 152
01 At22teld| 37,374 41,526 A4, 152
OSAZX P (0larEZ)
Z2& 6,696,000 6,69%6 7,440 NT44
OSZ20ialHl(olarE2t)
2 16,071,0002 16,071 17,856 A1,785
oYt =S (0flarE)
A 1,080,000 1,080 1,200 A120
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A2t
HZ2LZHI(MRDH) (DIEHIIE
Jl=3H|

SA BB SR(E) - HRAY - BES Ofl Aot )l 3o HimE2
OLRE SARHI(0AEZ)
23X 540,000 540 600 260
OA72 =&dI(0laEZ) 11,313 12,570 1,257
—S AP #=2l A 900,000 900 1,000 A100
—ZglFI| =2l AN 315,000 315 350 N35
—=S A EY 23 1,800,000 1,800 2,000 A200
—ZEIHJ|(EH) Eu
AA 6,300,000 6,300 7,000 A700
—DEIHI(ZEH) Ed
ZA 900,0002 900 1,000 A100
—PC =2l ZA 558,0002 558 620 AB2
—DJIEt =2lbl A 540,000 540 600 AB0
OJIEF APl (oflArE2t)
Z2& 1,674,000& 1,674 1,860 A186
202 0441 110,484 122,760 N12,276
01 2U0dH| 110,484 122,760 N12,276
OZLHoddI (ol arE )
23 80,352,000 80,352 89,280 A\8,928
Ol (ol &= 2)
2 30,132,0002 30,132 33,480 A3,348
203 HRF&IY| 4,374 4,860 A486
04 FN2ILSFELI 4,374 4,860 A486
ORMSILRFTHI(HlarE2)
Z2& 4,374,000 4,374 4,860 N486
HRES(HR0) (LESSHE/NYHE - HEXI) 50,000 0 50,000
LHEHeHKIE 50,000 0 50,000
LIEHH K= 50,000 0 50,000
02 0128E3 50,000 0 50,000
01 212882 50,000 0 50,000
OLEMNHI Iz HEZ
50,000,000 %13l 50,000 0 50,000




